¢) In the case P = 99%.

~ Assignment 2 In this problem we assume that a single
“has died. In order to recompute the missing data, the data
disks has to be read. The task is to consider the number of ex;
the reconstruction of the data. : g
When using consumer hard disks in RAID 5 configuration, co
- number of URE errors during RAID 5 array rebuild. Use a Ber '
3 M the URE errors with the typical consumer URE rate of 1 bit err
~ Assume the RAID 5 arrays are full of data and consist of the follov
of storage space (without the parity disk):

a) S0 TB
b)) 00T
) 150 TB
% ey
Assignment 3 Briefly (using at most half a page of text maxi
stent hashing approach to implementing a distributed hash tal
ith the potential benefits or drawbacks of the approach when ¢
vers to a DHT. What are the things that need to be taken into a
oad balancing? How can replication be done in a DHT? !

n filters are a probabilistic data struct




xment 6 Briefly (using at most half a page of text maximum) d
statement called as the CAP Theorem and what implications d




